Model:
Chalkhoard Pack ASO74.500

Parts
1/4" FIat Washer 1/4" Lock 1/4" Weld
Washer Nut

ON T «smmne—

“— 1/4 x 1-1/2" Hex Bolt #10 x 1-5/8" Screw

Creative Playthings

—
#12 x 3/4" Pan 1/4 x 2" Lag Screw
Head Screw
A 2 35257-102 Chalkboard Batten 5/4 x 4 x 15"
B | 15173-500 Chalkboard 15 x 23"
_50553-700  Chalkboard Hardware
. 4 17020-115 Screw #10 x 1-5/8"
N I ) 2 17128-305 Pan Head Screw #12 x 3/4"
4 17001-104 Weldnut |/4"
All hardware on this set is specially coated for 4 12002-205  Flat Washer 1/4"
corrosion resistance. If non-Creative Playthings 4 12017205 Lock Washer 1/4"
hardware is used, it musstteI: galvanized or stainless 4 17003-609 Hex Bolt 1/4 x 1-1/2"
) 4 17036-801 LagScrew /4 x2" )
STEP ONE - Rearrange Wall Slats
\
The Chalkboard accessory mounts between two Wall Slats. Remove the —

Wall Slats in the position where the Chalkboard is to be mounted. Refasten
two Wall Slats no more than 12" apart using the original fasteners.

Mount other Wall Slats to block off any other opening created when making
room for the Chalkboard. Make sure that there are no gaps be-
tween Wall Slats or Posts greater than 3-1/2" unless the gap is
greater than 9".

STEP TWO - Mount Chalkhoard I

Hold the Chalkboard (B) in place against the Wall Slats. Make sure the gaps four places
above and below are less than 3-1/2". Mark the location of the four larger
holes. Drill 5/16" diameter holes through the Wall Slats at the marks.

Fasten the top Chalkboard batten and the Chalkboard to the Wall Slats using
two 1/4 x 1-1/2" Hex Bolts, Lock Washers, Flat Washers and Weld Nuts. Use
1-5/8" Screws through the smaller holes. Repeat with the bottom Chalk-
board Batten as shown.

Use two Pan Head Screws to secure the Chalkboard to the Battens from
behind, though the holes provided.

— —

Chalkhoard Pack Instructions - 19929-100A (11/15) Copyright 2015, Creative Playthings - Printed in U.S.A.




